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1. Which three statements correctly describe the feature of an OracleAS Cluster (Web Cache) and its
members? (Choose three.)

A. The Web cache members communicate for invalidation and detection of new members within the Web
cache cluster.

B. The cluster owns the cache contents and requests for the contents from the cluster members when the
contents are requested.

C. The cluster uses the absolute capacity of each cache instance to distribute the cached content among
the cache cluster members.

D. The Web cache cluster transfers the ownership of the cached content to another available member in
an event of a member failure.

E. The cluster may store the popular objects, known as on-demand content, in the cache of more than
one cluster member causing fewer requests being sent to the application Web server.

Answer: ADE

2. You are using a file-based repository for the OracleAS Cluster. Which statement is true regarding the
participating instances?

A. The instances must be in the same node.

B. The instances should belong to different platforms.

C. The instances should be associated with OracleAS Metadata Repository.

D. The instances should not belong to the same OracleAS Farm as the cluster.

E. The instances should not be associated an OracleAS Farm which uses Database-based Repository.
Answer: E

3. Which two statements correctly describe features of an OracleAS Cold Failover Cluster (Infrastructure)
environment? (Choose two.)

A. The virtual IP address is associated with the active node.

B. Cluster nodes share a single storage device.

C. The OracleAS software is installed on all cluster nodes.

D. The OracleAS components run on all cluster nodes.

Answer: AB

4. You have installed an OracleAS Cold Failover cluster (Middle-Tier) that has two nodes, NODE1 and
NODEZ2, in the cluster where NODE1 is primary and NODE2 secondary. After installing, you have:
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1. Changed the port munbers of OracleAS HTTP Server (OHS) and CracleAS Portal on WODEL

1 Failed over to NODE?2 and made it the primary node and WODET as the secondary node

3. Enabled 55L connections for the OID users

4. Enabled HTTPS connections for the applicarion users

Now vou want fo execute the following command to update the compenent configiration in the Oracle Internet
Directory {OID):

S SORACIE HOME bin/chgtocfmt - asterix us oracle com -p jauv4acy -5 -2 -w vhost101 us oracle com
Which option would you consider before running the command?

A. failing over from the NODE2 to NODE1

B. propagating the changes from NODE2 to NODE1

C. disabling the SSL connection for the OID users and enabling access to OID

D. manually updating the portlist.ini file to include the correct port numbers in NODE1

E. manually updating the portlist.ini file to include the correct port numbers in NODE2

Answer: D

5. In your OracleAS Identity Management cluster environment:

You are using the Oracle Real Application Clusters (RAC) to ensure high availability of OracleAS
Metadata Repository. There are two instances of the database that are running on two different nodes in
RAC

During routine checks, you realized that the primary node in the OracleAS Identity Management cluster
environment has failed, thereby causing the Directory Replication server (oidrepld) and the Directory
Integration and Provisioning server (oidsrv) to fail.

Which action would the OID Monitor process (OIDMON) perform so that the OID user requests will
continue to get processed?

A. redirect the client requests to the secondary node

B. activate the DIP server on the secondary node in the RAC

C. remap the virtual host name and the virtual IP to the secondary node

D. automatically start the processes on the secondary node after 5 minutes

Answer: D

6. View the Exhibit that shows a tag added to the fixup_script.xml.tmplfile.
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<cfw:operation>
<alter cluster="fal=se™
alter file neawe="3NEW HOME%/sysman/emd/targets.xml™
reference file name=":%NEW HOME:/install/portlist.inis
<cfwialterCommumands
<ofwipattern> (Oracle HTTP Zerwver port) ([
1*71 (=1 1[ 1*) ([0-9]17%)
</ofw:patterns
{cfw:value_ref>5{fcfw:value_ref}
<ofwisubst> (Property NAME=Loguot:HTTPPort &oquot;
VALUE=&quot;:) ([0-9] *) (&quot;) </ cfw:subst>
{cfw:subst_ref}zﬁfcfw:subst_ref}
</ofwialter Command:>
</alters
</cfwioperations

What could be the reason for adding this tag during the cloning process?

A. to relocate the targets.xml and portlist.ini files in the cloned home

B. to change all occurrences of Oracle home in the targets.xml file of the cloned home

C. to replace the old port number in the targets.xml file with a new port number in the cloned home

D. to replace the old port number in the portlist.ini file with the new HTTP port number from the targets.xml
file in the cloned home

Answer: C

7. You are upgrading the OracleAS Infrastructure from 9.0.2 to 10.1.2.0.2. You noticed the following
information in the output of the Metadata Repository Upgrade Assistant (MRUA):

checkAndClean ; failed to get oca config from db

java.sgl. SQLExceprion: OFA-00242: table or view does nof exist

at oracle jdbe driver DatabasebError throw SqlExceprioni Datavasebrrorjava 1240
at oracle ydbc driver T4C T TIoer processError T4C T Toer java; 304)

at cracle jdbe driver TAC T TIoer processError{ T30 T TToer java: 27 1)

at cracle ydbe driver TACEOE recerve( T4CE 01 javaa2a)

at cracle ydbc dover. T4OStatement doOall s T4 5tatementjava 112

What could be the reason for this?
A. There are active middle-tier instances currently using OCA.

B. The infrastructure should be upgraded to 9.0.4 and then to 10.1.2.0.2.
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C. The database that is used by the infrastructure is not available and is, therefore, shut down. D.

The Oracle Application Server Certificate Authority (OCA) is not installed in the infrastructure.

Answer: D

8. Which are the three prerequisites for end users who want to use Discoverer Plus OLAP to create
queries against the OLAP data? (Choose three.)

A. Users must be assigned the D4OPUB role.

B. Users must be assigned the SELECT_CATALOG_ROLE role.

C. User must be created on the database where Discoverer Catalog is installed. D.

Users must be enabled to create public connections for Discoverer Plus OLAP. E.

Users must be enabled to create private connections for Discoverer Plus OLAP.
Answer: ACE
9. View the Exhibit.

; Oracle Forms servlet - Microsoft Internet Exolorer A i -0l x|

I File. Edit i Faworites Tools  Help |-
J GBack ~ = - () 4] & Bearch [EFavorites SlMedia o4 | E\y- S B -

]'.ﬁ.du:lress |@ http:/fedtdrSpl.us.oracle. com: 7778 Forms frimserviet?form=dep_emp j -f>GD

The Forms Servlet will not allow new
connections. Please contact your System
Administrator.

_‘.,_J
You always use the URL http://edtdr5p1.us.oracle.com:7778/forms/frmserviet?form=dep_emp to access
the dep_emp form. But now the URL displays the message shown in the Exhibit. What could be the
reason for this?

A. The Forms instance is down.

B. The formsweb.cfg file is missing.

C. The OC4J_BI_FORMS componentis down.

D. The value of allowNewConnections parameter has been changed.

E. The Distributed Configuration Management (DCM) processes are not restarted after the changes in
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formsweb.cfg file.

Answer: D

10. Which two statements are true regarding the job status repository stored in the database, and
specified in the report server configuration file? (Choose two.)

A. The job status repository is persistent.

B. The job status repository is created in the cgicmd.dat file.

C. There can be more than one job status repository mentioned in the configuration file. D.

The rw_server.sql script needs to be executed to create a table to store the repository.

Answer: AD

1. View the Exhibit and examine the content of a log file at
ORACLE_HOME/Apache/Apache/logs/oracle.
<MEISAGE>

<HEADER:=

{TSTZ_DRIGINATING}EDDE—D&—DlTlB:SB:QE.DSE—DB:DD{fTSTZ_DRIGINATING}
{DRG_ID}DraclE.cum{IORG_ID}
{COMPDNENT_ID}OHS{fCOMPDNENT_ID}
{HDSTING_CLIENT_ID}D.D.255.255{fHOSTING_CLIENT_ID>
<M3z TYPE TYPE:"ERRDR"}{KMSG_TYPE}
<Ma3% LEVEL>17</M3& LEVEL>
<HOZT ID>test-perf9</HOST ID>
{HDST_NWADDR}D.D.ZES.255{fHDST_NWADDR>
<MODULE ID*apache core</MODULE ID>=
<PROCESS ID»5713</PROCESS ID>

</HEADER>

<CORRETATION DATAS
<EXEC CONTEXT ID>

<UNIQUE ID>=1017715128:255..255.255.88:5713:0:1</UNIQUE ID>
<8EQx1</3EQ>

</EXEC_CONTEXT_ID>

</CORRELATION DATA>

<PAYTOAD
<M3G TEXT=File does not exist:

Jfiles/bapache/docs/images/java-apache-project.gif
</M8G_ TEXT>

</ PAYLOAD>

< /MEIIAGE>

Which two statements describe the conclusion from the Exhibit? (Choose two.) A.
Oracle Diagnostic Logging (ODL) has been disabled for Oracle HTTP Server. B.
The content assists in correlating messages across components.

C. ODL has been enabled for Oracle HTTP Server.

D. The component-logging level has been set to its default value for Oracle HTTP Server.

Answer: BC
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12. Which statement correctly describes a demilitarized zone (DMZ)?
A. ltis the computer system(s) between the outer and inner firewalls.
B. It is the machine in which the database containing the metadata repository is installed.
C. ltis a protocol that uses the Secure Sockets Layer (SSL) to encrypt and decrypt user page requests. D.
It is a computing system that is ready to pick up application processing in the event that the primary
computing system fails.
Answer: A
13. Why are Enterprise Deployment architectures secure?
A. because Oracle Internet Directory is not isolated in the data-tier DMZ
B. because direct communication from the load balancing router to the data-tier DMZ is allowed
C. because communication from external clients does not go beyond the load balancing router level or
webcache
D. because communication between components across DMZs is not restricted by port and protocol
Answer: C
14. Note the following points about an Oracle Application Server deployment:
1. The Oracle HTTP Server. Swmgle Sign-On. and Delegared Admumstratzon Services are umplemented in two
servers i1 the DMZ and accessed through HTTP load balancer
2. QOracle Internet Directory and Diwectory Integration and Provisioning components are unplementsd i two
servers i the Data ner along with the OracleAS Metadata Bepository,

3. OrzeleAS Meradata Repository 15 implementad 1in a FAC-enabled database

Which deployment topology is described here?

A. Security infrastructure topology

B. J2EE enterprise deployment topology

C. Portal enterprise deployment topology

D. Business Intelligence and Forms topology

Answer: A

15. You implemented the J2EE enterprise deployment topology in your company. You implemented a
firewall in front of a load balancer that receives user requests on the Web tier.
What is the reason for implementing a firewall?

A. to bypass the load balancer

B. to permit only HTTP(S) accesses through port 80 and 443

C. to stop redirection of requests received on port 80 to port 443

D. to allow direct communication from the load balancing router to the data-tier DMZ

Get Latest & Actual IT Exam Dumps with VCE and PDF from Pass4itSure.
https://www.Pass4itSure.com



[ Instant Download O PDF And VCE [0 100% Passing Guarantee [1 100% Money Back Guarantee

Answer: B

16. You want to make more than one application server instance available for the users simultaneously to
counter any instance failure situation. You also want the configuration changes made to one instance to
be propagated to other instances automatically. What would you do to achieve this?

A. Implement Oracle Application Server Farm.

B. Implement an island on Oracle Application Server instances.

C. Implement OracleAS Cluster taking all the instances as part of the cluster.

D. Implement OracleAS Cold Failover Cluster adding all the instances as part of the cluster.
Answer: C

17. Which two statements describe the features of an OC4J island? (Choose two.)

A. State replication is not possible within an OC4J island.

B. OC4J processes in an OC4J instance can be partitioned into islands.

C. An OC4J island can have the OC4J processes from multiple application server instances.

D. An OC4J island can have the OC4J processes from a single application server instance only.
Answer: BC

18. View the Exhibit that shows an enterprise deployment architecture implementation.

Which kind of applications would you be able to deploy on this architecture? (Choose all that apply.)
A. All type of OracleAS Forms applications

B. OracleAS Portal applications that use SSO for secure access

C. J2EE applications that use Single Sign-On (SSO) authentication

D. OracleAS Reports applications that need to be deployed using a paper layout
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Answer: BC

19. To achieve high availability, you implemented OracleAS Cold Failover Cluster. Which statementis true
regarding this?

A. It involves two participating nodes, where both remain actively in use.

B. It involves two participating nodes, where one remains actively in use and the other remains inactive. C.
It does not manage virtual host names to present Oracle Application Server middle-tier a single system
view of the hardware cluster.

D. It involves two participating nodes, where one remains actively in use and the other remains inactive
and they cannot share the storage space.

Answer: B

20. In an OracleAS Cluster configuration, three Oracle Application Server instances have been configured
to serve the same workload. Which two techniques could be used for request distribution among the
active instances? (Choose two.)

A. Configuring virtual hosts

B. Using the load balancer router

C. Address lists configuration at Application-level

D. Configuring Oracle Process Manager and Notification Server (OPMN)

Answer: BC
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